N o g

©

10.

11.

12.

13.

14.

8 4

1~-4 5~12 13~14
x X
X Iogs(3 +8)< §+1+I0932 X

(A) log;2<x<log,8 (B) 1<x<log,;12(C) log,4<x<log,8 (D) log,4< x<log,16
(E) log,8<x<log,16
ABC , BC=1,snA sinB, sinA sinB 8x2—4y/3x+1=0 ,  ABC

(A) v3-1 .(B) 2J3-1 (C) ¥3+1 (D) v3+2 (E) 2J3+1

X+Yy+z+u<9
(A) gH;‘ (B) 1+ kzg_; HZ © % (D) 56 (E) 126

1 20 31 4 5 6/ 7 8 9 10
89| 65| 76| 69| 82| 57| 66| 72| 78| 66
75| 57| 65| 65| 83| 63| 58 62| 63| 69

8.9 ( ), 7.5(
(A) -0.85  (B)0.25 (C) 0.66 (D) 0.78 (E) 0.85
n k . n k, C,:Cl:C,=1:2:3, n=
, 1+2i , 3+,
f(x) = 2x% - 4x* + 2x+(2c + 4) g(x) = 3x* - 6x* + 2x+(3c +5)
, C
C 42  (1-5) , x-3y-7=0 , C
QL-a)x+7y=1
a B : X+y+az=p3 Ca= B =
20y +2=0
E X y z AB,C , C (0,0, ,CA=CB
ABC g , A E
10 , 1 10, 4 |, 4 7
: A B, C D, D
, 10 , C 225° , ZACD=60° , CD
AB
ABC A(25),B(5,1) C(37),P BC , AP AB
6 -8
(%!E)
r 2,2), x=1,L (0,3) , o, L T

Q, L . Q



5 3. /58

1.D 2C 3E 4C 514 6.6—13] 7.2 8.(5,—5),7 9.2,-1
1147 3 52 28
10.(\/7,00), (=, = XL 11. 2 12.10(+/2 +1) , 10(+/6 + /3 13.(2£ 22
(+7,0,0) (33 3) v (V2 +1) ,10(+/6 ++/3) (15 5)

1
14.= (6,6
5 +(65)



